
Ultra Violet VooDoo 1 Name: Block: Seat:

∫
u dv = uv −

∫
v du

Determine the antiderivative of each of
the following. Confirm your answer by
differentiation. Which is u? Let LIATE
(or LIPET) be your guide!

1. LIATE (LIPET)

(a) Logs

(b) Inverse Trig

(c) Algebraic (Polynomials)

(d) Trig (Exp)

(e) Exponential (Trig)

2. ∫
x sinx dx

3. ∫
y ln y dy

4. ∫
z2 cos z dz

5. ∫
x3e−2x dx
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6. ∫ π/2

0

x2 sin 2x dx

7. ∫ 2

−3

e−2x sin 2x dx

Answers:

2.sin(x)−xcos(x)+C

3.1
2y

2lny−1
4y

2+C

4.z2sinz−2sinz+2zcosz+C

5.−1
8e

−2x(4x3+6x2+6x+3)+C

6.1
2xsin(2x)−1

4(2x2−1)cos(2x)|π/2 0

7.−1
4e

−2x(sin(2x)+cos(2x)|2−3

St. Francis High School BC Calculus


